AV LINE

cmatic® BTl R M A B A AR 5L

PNEUMATIC FITTINGS Brass Push-in Fittings for Food and High Performance Applications

Certified to
NSF/ANSI 169

AVRBIEL | BMACFEERELE | Z-RREBEBTENSF169697=  The push-in fittings of the AV line are made of brass, chemical nickel plated. This
BRE , RERAE I HEEEE  WEhM S8 IT/EHE , &  product family is NSF 169 certified and as such the right product for the food and
B RIFHm 2 %- chemical industry, with a good resistance in corrosive environments and any high

FRIBAVRSI= @M RN ERLZHER , FFENSF51ME, temperature applications. o B
All AV Fittings are made of brass and are chemical nickel-plated certified NSF 51.

25



.3 | 4 [/ 5 [ 6 |

A EFRE R XER +m RIFER HHE

Body and Release Ring Holding Ring Gripping Collet Protection Ring Seals

F4FUNI EN 12164 CW614N - UNI EN 12165 CW617N{LZ4E4R iR ( PEl) AISI 30154 #ihE (PElI') FPM#FAFDA

Brass UNI EN 12164 CW614N - UNI EN 12165 CW617N chemical Nickel Plated Resin (PEI) Stainless steel AlSI 301 Resin (PEI) FPM compliant with FDA

Sl

|l @ 2 ©® v ac

-20°C-150°C & K20 bar -99 KPa

M5x0.8 G1/8  G1/4 G3/8  G1/2
4 ° °
< 6 ° ° °
@ 8 ° °
0 .
12
FEARME DATA SHEET
BIMEZEER . Recommended tubings:
PA11, PA12, PA6., PERZ%. PURSEHES (98 Shore A) PA11, PA12, PAB, Polyethylene PE, Polyurethane PU (98 Shore A).
AESHERNE Acceptable Tolerances on the tubings:
+/-0.07 mm , {RARERE 10 mm +/—0,07mm up to @ 10 mm
+/-0.1mm , EEM12E] 14 mm, +/—0,1 mm from @ 12 up to @ 14 mm.
R, Application fields:
SHRE. Pneumatic circuits.

26



PRI A RE Tubing insertion depth

L BERDe L

3 98
4 132
6 16.1
8 162
10 183
12 195
14 225

==

2 %1588 ASSEMBLY INSTRUCTIONS

1REREELE (FEATCUTERYD), BIANAEREEER , BEER 1. Cut the tube square (by means of a hose cutter i.e. our TCUT) making sure that no burrs are

HBEERBEEWHER. FHEEKEEN , FEEBEITAIRSE (TINC) left and that the tube is not oval.

EERLAE, FERIESEZRERER , MRIETENIER, In case of use with metal hoses, make a groove all around the tube diameter with a suitable
tool (TINC).The groove must be made according to the tube diameter so that the fitting collect
can better grip onto it.

2 EREmAREL , AR L, 2. Insert the tube into the Fitting until it bottoms.
K ERR: \ Tube release
FEERERBE , BRKHERET, While pressing on the release Ring, pull out the tube from the Fitting.

= = =l
= = [

SERIEEE , BRAER EREZNAD ; i, ERREREENR _ Once the tubing is connected to the Fitting, make sure that the tubing is not subject to

& NEMEEFEAHEMEIBTZME, any tensile strength and that the min. recommended bending radius stated in the tubing
RATBRERBEALE , EAVESTEEMBRIR, EREBRIGH = section of this catalogue is complied with (see page 335).

EEMAL , SEME D , HTESHEEENLME. To prevent any accidental tube release, no components have to come in touch with the

BEHTERN | BSEEATIIHNBIURE, release ring and exercise any unwanted pressure on the same. Indeed however lateral, any load on

the release ring may cause the tube disconnection.
To tighten threads, please check out our tightening torque chart illustrated at page 6.

27



BERQEEEL Parallel Straight, male
D2 B3l EEQe D1 D2 D3 L1 L2 CH1 CH2 g &b
T—‘%‘” 1204 M5 4 M5x08 9 8 4 19 - 25 46
L 12 06 M5 6 M5x08 12 8 4 2 - 25 86
\

3 | 120418 1 61/8 9 13 5 165 9 3 6
_ﬁﬁ of  CcH 120414 4 G1/4 9 16 6.5 185 9 3 12
= 120618 6 G1/8 12 135 5 195 12 4 9

1206 14 6 G1/4 12 16 6.5 195 12 4 12.7
o 120818 8 G1/8 14 13 5 25 13 6 115
D3 120814 8 G1/4 14 16 6.5 25 14 6 135
120838 8 63/8 14 20 7 21 14 6 20.1
D2 121014 10 G1/4 16 16 6.5 275 15 8 17.4
o, 121038 10 G3/8 16 2 7 25 16 8 226
121012 10 6172 16 25 85 255 16 8 345
: ‘ CH1 121214 12 G1/4 19 16 6.5 285 19 8 26.2
T 121238 12 G3/8 19 20 7 285 19 10 29
= ‘ o 121212 12 G172 19 25 85 %5 19 10 36.1
[
l
D1
D3
MIRLE sk Female Straight
e EEDe D1 D2 D3 L1 L2 CH g 62
D2 130418 4 618 9 13 75 235 9 10
2e 130618 6 G812 14 75 26 12 15.1
1306 14 6 G4 12 16 11 30 12 185
o 130818 8 G814 13 75 2 14 175
yan 130814 8 G1/4 14 16 11 30 14 202
§ T‘T (] 131014 10 G1/4 16 16 11 2 16 244
D1
D3
ARAREMIREEEL Parallel Swivelling Elbow Fitting, male
et ER&EQe D1 D2 D3 L1 L2 L3 CH g 42
L3
16 04 M5 4 M5x08 9 10 4 14 175 9 8.8
) — 160418 4 G1/8 9 145 5 18 195 13 157
gl o 160414 4 G1/4 9 16 65 215 195 13 19
cH 1 — 16 06 M5 6 M5x08 12 10 4 14 05 9 119
o 160618 6 G1/8 12 145 5 18 22 13 185
16 06 14 6 G1/4 12 16 6.5 215 2 13 218
S || 160818 8 G1/8 14 145 5 18 25 13 2
1608 14 8 G1/4 14 16 6.5 215 25 13 253
Iy 160838 8 G3/8 14 20 7 %5 23 16 37.7
03 161014 10 G1/4 16 16 6.5 2 % 16 34
161038 10 G3/8 16 20 7 %5 26 16 395
161012 10 G172 16 25 85 275 2% 16 432
161214 12 G1/4 19 16 6.5 255 285 20 58.5
161238 12 G3/8 19 20 7 26 285 2 57
ey 161212 12 G1/2 19 25 85 05 285 0 85.1

28



L2

L1

R ARESL Reducer
Ecgil ERZDe D1 D2 L1 RRAY
2504 06 4 6 9 335 7
bz 2506 08 6 8 12 35 15
Le0, 2508 10 8 10 14 37 15
251012 10 12 16 42 20
I
I
D1
PREE25 S8 Union
E$il) BER10e ER20e D2 L1 RRAY
260404 4 4 9 28 6.8
26 06 06 6 6 12 335 15
b2 26 06 04 6 4 12 31 14.7
r@ﬁ 26 08 08 8 8 14 34 18
L 26 08 06 8 6 14 34 21
261010 10 10 16 385 225
261008 10 8 16 365 252
- [:[ 261212 12 12 19 4 36.6
|
7 De2¢
R IEEL Bulkhead Union
E3il ERDe D2 L1 Lsgx CH g 60
270404 4 M12x1 28 1 16 235
D2 2706 06 6 Mi4x1 34 16 18 33
2eg, 270808 ] Mi6x1 34 17 20 395
] 271010 10 Mi8x1 39 19 22 515
— 211212 12 M20x1 41 20 24 60
| |




E AN

L1

ETE=&E#EL

L1

BBREEARG

L1

Union Elbow
il ERQTe D2 L1 g 60
280404 4 9 175 9
28 06 06 6 12 205 165
u 280808 8 14 225 22
- 281010 10 16 25 295
Qumny | il %1 o 281212 12 19 265 185
ERY =
D2
Union Tee
e ERDe D2 L1 L2 g 5D
L2 290404 4 9 175 35 125
29 06 06 6 12 20 40 25
T '[* . 2908 08 ] 14 21 0 284
J_ ) {7 S 291010 10 16 5 49 39.2
291212 12 19 26 52 61.3
D2
Single Banjo Ring
1 Eic) EEe D1 D2 D3 L1 L2 g &2
3504 M5 4 M5 9 10 10 185 77
/. ] - 3504 18 4 18 9 14 15 205 135
I g 3506 M5 6 M5 12 10 10 215 109
| | 3506 18 6 18 12 14 15 225 155
| - 3506 14 6 1/4 12 18 17 24 216
350818 8 18 14 14 15 235 16.7
1 350814 8 1/4 14 18 17 245 228
D3 351014 10 1/4 16 18 17 27 27.2
351038 10 3/8 16 2 20 29 395
351238 12 3/8 19 22 20 295 388
351212 12 12 19 2 24 315 56.9

/R={X A FSRE AT 25 - For flow controls only

30



Y gk Y Fitting
Egil ER10e EfR20e D2 L1 L2 RRAY
L
| 7‘7;‘@ 370404 4 4 9 295 95 135
T v T 37 06 06 6 6 12 36 125 32
3708 08 8 8 14 375 145 425
371010 10 10 16 445 16.5 62.7
_ ‘ [Gomoe] 371212 12 12 19 49 195 95.8
N A
.Delg
o |

31





